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A box conkins 9 blak bedls and 6 white. beads. Tooo
beads drve Sdeded IF rancbm withou- rc/:lac.emcnt.

O Draw a tree e!idamm to FCFv’CSen‘I‘ Hie gbove and wirile
—+the 3Ss0ciated Frobaloihhcs.

@ FnQ e Probéb)h‘t\} that dhe hwo beads are of difkrent ol

Qi) find the onlaabih‘i} Fhat ’Fr\ej are. of the. ame_ eolov.

(v) Fnd He Probé‘bi\rl'j Hat  fhe Second bead is whik.

W) Gwen at e Scaond bead i whike / Andl e Pro\oalmhﬁ
that 4he Rt bead is @l while .
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(1)  Fossible Scenarias:
B&w or m&&

(45 <L)« (o x)

(i) Resible Scemarios -
B&B or W&W
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@mads: . h a tee Q)raﬂmm, branches hrom —he Same Fm‘n\-
ddd Op L

. Always wile ﬁ)ossch Scenares hen Possible
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